_— MATER IALS
ITEM| DEXRIPTION REQD ITEM DESLRIPTION REQ'D
| POLE , YO! - . - _ |_x._. v.r—Fc.ﬂn..)T..BOZ_VChu\Oﬂ. ol
2| womarm matnbatn 8T | T e | AeMor von T
% | PRk woon T T T T | poLE 4ROUND INRE. Sh LU | T
4 | erun racy. ! P
B | RIDUE. AN | 1900 .
b | “P00L INGULATOR,, 1
T_ | oteEL PN, Tpix Bt 2
B | WAL aREUL, M2t Y )
A | CARRAGE PoOLT Yol |2
|_10__| MAZHIME POLT, %o' w10 ra
1 _] MACHIME poLT. % k™ ]
12 | WADHER,, 2" &2, 2
R lﬂg 12| PHAME ONDULTOR. .
O 1= I AemoR pon % ]
| 12 | Tie uNRE, *b AL. =
.h o | PN WWELATOR., q K %
.
o _ w000
o joe; aéu |
! , :
lrnlrx e S RO S ——T i
( W
MU NOTE ;
V% 3 1. Do MOt IMN9TALL
3 / LGQROUNID UNRE. PACGT
2 4
/@ MEUTRAL  (ONPULTOR
@ CTHIG  LONGSTRULTION
N STANDARD 10 P
> .% LSED oM ALL LINES
i JSM- R B wsv@ PUILT OM MATIONAL
o .uw @ _ N@ RESOURLE LANDS
ot
) m mm @) ) ”
| H '
DATE: T
B s B priuAe 1 LLe fOLE
“ ORAWN BY: . 12500 \OLT AP
| 1. oo
_, DESIGN BY: conoco
CHECKED BY: \l\ PRODUCTION DEPT. HOBB8S DIYISION
= JoB! DRAWING NO.!
APPROVED BY: \\\
g
i P T 2.8l &PELD. E%- 26
1Y721N 158
k3 ' ; b
no1 T H.. {
4 o
8 b kD i P
0o | ,4_ __ o
3 .“ . ; w_, \.w
A i ,‘ b E
; { il ' ¢ . i
_7 w H . . ) W.
i E ! \
{ : ) {
“‘Am w Y ! N
- i L_ i PR
A i ' s R
iR ! iy : : N IR
, * i ! !
’ . o
! { ! i
n ok _
i )




B \ . ) .; . PRI H .. A
o ) R s __. " . ¢ 4 AR * ¢ ¥ . P
;s LI H ) . ot i Y27 . ) HE
. N L Palon KEF coh
oo & 4 v
© 4 9
W De d) 7 9
— £ 3 ] .
| . F 24 \ A
‘ R “.ju.‘... G ‘2 . ., 9
, , - ¥y {
S , . [ 8 .
, \.. l ! P 7 7] R
, X [ .
I Lo _
: - Pare6]| 7 ESVA, NOTE & b
5 & ! '
T 3
0 v 3
W 3
¥ / . .
i 3
¥ Z |3 !
. -V My 29 @ > .. e
d B . L]
| Z _ EE g -
.0 FF ! la
“ W] & bl
d 1 :
P . 3 , A ] £S-/A NCTE 2
, " B
s FP 3
| aa &
b R ' . P . ' o *
@l’lr . Jdote ‘ o . .
" : LLENTER. THASE OU HAMIL WILL HAVE :
! EPOXY INSULATOR. | KEARMNEY * S2301% -2 N
" IN%. (REF.-REFER. TO DRl E%- I9)
Ly
j L ALL UIRE FROM POINT "U* wiLL rg
- INGULATED TYPE LURE ON TRANSSORMER.
(I POANIL , '
, R
@ ¥
) ] 0 DATE: 2oste TITLE :2/WGLE AFOUE SLBSTA,
w . L 237 IPH TRANS, TLUSTER MCUNT
e X A0 S . i It : IM. DEAL- - K
, vo wert mEmo N 5 4 o ; N DRAWN 8Y \\, PRIM DEAL-ENC- 1£300/ 480 V ACSR
- ~~
. Ve AN :\.J DESIGN BY: M\XQD coONocCo
\ . { ——g®— y CHECKED B+ PRODUCTION DEPT. HOBES DIVISION
. ) ' Joe: DRAWING NO.t
~ ~ - 7 . APPROVED BY: D
Ty - L e . EFLEC SPECS - £5-3 00
. .,V S . SEALE: g
i . : - MONE
Y 17..; o
“ry K ' o
i yﬂ ~ \ﬂm M :
i} | qr
B 1 r . IS .
p o i w : .
| i - :
i 2 w , I .
i } il il i
' { o ¥
3 : : 3 .
£+ " ! 2 Y .
| : ¥ “ ;
AR ~ R i B : .
f i . i N
ﬂ“ : m k v
i 3 v ¥ }
I : A ﬁ \
W 4 ! }
i o m f M
: : i -




ITEM DESCRIPTION A, B, CHANCE NO. JOSLYN NO, OTHER NO,
MFRS, NO. SUB. .
A 35' class 6 creosoted pine pole
8 3 1/2" x 4 1/2" x 8' treated crossarm '
[ High density wet process porcelain pin insulator 63
[ $/8 x 5" Forged steel pin w/aq. washer, nut, &
locknut g8/ !
[ S/8" x 12" machine boit w/ nut (or length req’d) 88/2
F 2 1/4" x 2 1/4" x 3/16" x 11/16" hole aq. washer 6813
[4 5/8" MF_Locknut 3I5/Z
H 1/6" x 1 1/4" x 28" flat Crossarm Brace 7/28
J 1/2" x 4" EZ Yetter Drive Log Screw 508754
[3 3/8" x 4 1/2" carriage Bolt w/ Nut 8634 12
L 3/8" MF_Locknut . 35/0
M Preformed Aluminum Alioy Armor Rods, size req'd
N tie wire #6 strong alum, alloy
[ Epoxy Insulator (Extension Link) VEARNEY “3110 250 X
4 357 claas 5 creosoted pine pole
R Aluminum double tab Squeeze on Connector
for ACSR, Aluminum, or Copper-size req'd KEARNEY SERIES "61" | X
S 6" Suspension Insulator ©6200
T 5/8" Standard Oval Eye Nut 6502
u Primary Dead End Clamp L2050
W §/8" x 18" (or length req'd) Double Arming Bolt ;
w/b 8q. nuts Bg68s
X guying detail - see dwg No, ES-10 for specs.
Y Hot Line Clamp SISZ0AGP
Z Squeeze on basket, size required KEARNEY X
1
i
DATE (2e2Ters TITLE:
: DRAWN BT PESCHIPT/ON AVATER/A .
E.W/INTER
CHECKED BY: PRODUCTION DEPT. HOBBS !VISION
X JOB: DRAWING NOQ.1
v APPROVED BY:
_ o £irc SPecs £S5~/
NOIE SHEET /0 T3

e~ g

FRiwy |

PETRURNE

isuat

b’

L nh T e MO




e | DESCRIPTION T TR s e oL T T Jostm o Tomer T fwo
MFRS, NO. SUB.
AA Primary Cutout - 100 amp, 15 XV, 16000 amp int. cap.] FZXX/0/56G : X
BB Ceneral Purpose "U" bolt Ciamp YCS5/04GP
| CC__ Lighten{ng arrestor, 10 KV e
Dn Single phase ofl switch, 14.4 KV _ {MGKAW-EDIZON KNMC 2.
FE split bolt connector, mize req'd VLACKBUKRN K SIRIES
FF grounding specs. see dwg No, ES-11 & ES-1A, Note 3
GG 35" class 4 creocsoted pine pole
HH Aluminum deadend Preforms for ACSR, size req'd
JJ 30’ class 6 creosoted pine pole
KK OVERHFEAD GRND, #& ACSR -~ If Req'd - Ref, Dwg ES-11,
ES-1A - Note ) -
Ly ground connector, motor . HUKNLY K22 X
L2} 600 V. secondary lightening arrestor sinple phase
NN Greenfield Type FF liquid-tipht flexibie steel
. conduit, sixe req'd, w/ neceasary liquid-tight
connectors,
00 req'd size LB fitting & cover & pasket
PP transformer tank grounding mnngh— GWS5-/5
aQ Bird Cuards {insuiating boots on traasformer bushinga) _ Ean;_ﬂ\ﬁmmmmwu'
. DATE: TITLE:
IZ2-R7-7/ LE
DRAWN B: DPESCRIPTION MATER/IAL "~
£ WINTER
CHECKED BY: PRODUCTION DEPT. HOBBS DIVISION
- JOB! DRAWING NO.r
APPROVED BY: .
FLEC SPECS - £ES-/T
SCALE: e SHEFT 20F 3
)
' ¢ . . .“
v __ : 1 m _
! : Vo
] o . .m :
i 3 . "
it i :
! | } :
it . 1
it . # A
i i i k
. .Y f ; «w :
: w ¥ “ ‘..._ ! '
HE : \ : ¢
! i [ S 3} '
i : ;
7 : :
'y . R i , _ !
b { i P
. : . !
| i v




DESCRIPTION

A. B. CHANCE KO,

' JOSLYN NO.

i

OTHER NO

MFRS, NO, suUB,

double upset bolt s/sq. nut, round washer, and
cotter key on ahort end, aq. nut and MF locknut
on long end, 15 1/8" long (or length requlred.)

7E28

wet process porcelain secondary spool {insulator,
3", brown glaze

W70/

required aize conduit w/ servicehead(a) & req'd
size & rated insulated conductors. Ref. Dwg ES-1B
Nota: provide clamp and ground conduit

e

parallel groove clamp, size req'd

BURNDY SEKIES"UC”

secondary {nsulator clevis for 4" fnsulator

$/8" thimbleye nut

bs/0

EaE]

318" x 12" {or Tength req'd) straight thimbleye
bolt w/sq. nut

55/2

transformer cluster mount bracket An_.‘:,.:v

ALUMAIORK M3 -G X

transformer cluster mount bracket (large)

ALUMA-FORM 15M3-b X

req'd size raintight disconnect & fuses, l-phase,
600 v, Ref, Dwg No, ES-1B -

16" cross plate anchor (or size req’d)

X-1b

8-way expanding snchor (sfize req'd)

88135

reln

4" brown glaze wet process porcelain secondary
apool {naulator

Jarot

5/8" x 7' thimbleye anchor rod w/nut (use twineye
1f req'd - Chance No, 5367)

5317 (WT 55006P)

3/8" high strenpth guy strand (10,800 1b,)

bb

dd

preformed guy grip for 3/8" guy strand

5/8" x 10" angle thimbleye bolt w/nut

5010

3"'x2"x1/6"x11/18" hole curved washer

B3 Y2

£f

6" - guy clamp w/3-1/2" bolta

.19

medium s{ze strain insulator

hh

serving aleeve for 3/8" puy atrand

454

1)

3/16" x 2-1/2" x 7" 14ift plate

7887

nn

pole bottom ground plate (may use butt-wrapp if
desired)

a9

Ground Connection (fee Dwg, ES<T2J

re

wet process porcelain secondary spool {nsulator,
3" - white glaze

tt

wet process porcalain secondary spool insulator,
4" - white glaze

DATE:

1Z2-27-7/

DRAWN BY:

£ WINTER

TITLE:

. PESCRIFPTION MATERIALS .

DESIGN BY:

CHECKED BY:

PRODUCTION DEPT.

HOBBS I' "ISION

APPROVED BY:

SCALE:

NONE

JOB:

LLLE FrECS

i—

DRAWING NO.

TS

SHEET X T

310

iy
e

T

o gt

I

g, oty sammr

S

il

X

T




]
.z
>
e
W
TS
‘31'
NN

HUY LEADS WILL P 1| ITEMI TERRIDTION eQ;
ON ANGLES OF 80°-10° LA POLE — LEMATH, LA o
AMD 4% OM ANGLES OF 2 | ANCHOR g
) O -19° % {ANCHOR oD 5/ "w 7'
W GUY KTACHMELT, PI%3A
5 | LUy CARLE  Fo" U4,
6| GUY WBULATOR | £06
7| EPOXY WSULATOR.  YEARNEY * 223465 -24
3 CLAMP | %-POLT
i § AR - _a__| auv_ampr, >/
10 ] (ROF9 ARM &
] )| PRACE, 3B GFA.
12| \Au sxREWd | A1
LA L OTEEL, PN %"y H°
Y| RALK, 1=POIRT
12_|_SA00L WFULATOR. | 3%
6| POLT, DA 585, 127
AT POLT, MACH,, e v 47"
_o | BOLT, MALH ] et 10"
H_| POLT, MACH. | et p 127
22 | ENE _MUT  2/"
2| tpAsHER | 274 FINT
Z22_| WASHEER %' GIRVED
NOTES © | 2% | WXk at, e”
24 ] LOocK wiT, e
——— 1. ALL. JUMPERS Ol (OMDUCTOR, 75 TPHAE hmzo\coém!@.-
PHASES WILL PE  INCULATED 7 UTEAL  LONBUCTOR. WD, .
TYPE UWHRE, 21| PREF DE WO, ___
2 _| PREF. DE, HO.

2. THIS ONGTRUCTION STAMDARD L 21| CLEVIS THIMPLE

1O PE USED OM ALL. UNES pailT I.ub ._LZQWWJ POLEBVE  NO. ... —
OM NATIOMAL. RESOUZLE LAMDS, 2| eoMiirdTor: 5.0, SMi, R

2. O HOT WHITALL HROUND LUIRE. 2 | WaULATOR. , QKN PN
PAGT NEUTRAL. LOMDUCTOR-, 23 | IMSULATOR., 6 Do
o TIE WRE , Mo, 6 AL,

ig

i

—i
Y
B
2t
—©

i
'

NN

n
£
Y

|

|
H

L

|

NP [C NN (O o] S ot M N

|

®[®Rlo~

|

RSl ol s

OATE -1 TTLE prIARY AMALE STRUCTURE.

DRAWN BY: ] EOP-O0S (2800 INLT  NAR.
vl

CHECKED BY: \*\ PRODUCTION DEPT. HOBBS DIVISION
nd N JOB: DRAWING NO.t

Y
|5
,mm

R

APPROVED mSN*\ =
— B, “PELS. ES=-21.

' SCALE:
2721012

,;;"‘r_‘ i

T e

oK s oo

AR IR T

B Nt L T T el |




B
~®
.
ERvloZiefe)
x
Cl=|wiyi-

h H " u[_
@\ﬁw\@ Z
WWV |
®
NOTE ¢
FOP. MATERIALY , SEE
DRUGS,  E9-|
g ATE: .
PATE 115 TITLE |
ORAWN BY: ) EPOXY INSULATOR. mmﬁ\w. miou r:,:nu ;
1 merri
CHECKED B \.-\ PRODUCTION DEPT. HOBBS DIVISION
- 408! DRAWING NO»
APPROVED 8Y: sV
2 1
SCALE: EVEL, L5, B - 20 «
\ir i
i , I¥ . " .
: H , o :
; Lo
: ’ i m
| | K T .
1 N L J :
' £ . N
i % ! Ak
S 3
ﬁ _ i mn
w ] . LR
_ ‘ _ \ Lo
I v . ¥
I ., I
m . TR 1




